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This question booklet contains 100 questions, and each correct answer carries 1 mark.
Every attempted question with an incorrect answer shall carry a negative mark of 0.25.

Choose ‘E’ Option if you don’t want to attempt a question, if no option is marked, 0.25
marks will be deducted.

Use only Blue/Black Ball Point Pen to darken the appropriate circle in OMR.
Please darken the complete circle.
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The answer once marked, cannot be changed.

Please do not make any stray marks on the Question Booklet.

Do not fold the OMR sheet.

Rough work must be done on the blank page of the Question Booklet.

Mark your answer in the appropriate space in the Answer Sheet against the Number
corresponding to thequestion.

The Candidate has to submit a Question booklet and OMR response sheet to the invigilator
at the conclusion of the examination.
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11 A rare event
A A full moon B A red moon
C: A blue moon D A radiant moon
12 = Alazy person can never in life.
A Successful B Success
C: Succeed D Successful
13 = Gandhi fought for ____ freedom of our country.
A The B A
C An D No article
14 Hebought




A A number of books B The number of books
C The numbers of books D A numbers of books
15  Give the plural form: 'Calf'
A Calf B Calves
C Calfes D Calfs
16  Prevention is than cure.
A Worse B Better
C The best D Good
17  The sooner, .
A The more better B The best
C The better D The worst
18 Anapple on his head yesterday.
A Drops B Dropping
C Dropped D Drop
19  Please start your meal, I the dish.
A Have served B Have serve
C Have been serving D Have serving
20 = The pandit was a man.
A Learning B Learns
C Learning D Learned
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A 16 B 32
C 64 D 128
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36  Which of the following diseases is caused by the deficiency of Niacin?
A Scurvy B Rickets
C Pellagra D Pernicious anaemia
37  Excess growth hormone would cause all the following EXCEPT
A Suppression of cancer B Gigiantism in children
C Acromegaly in adults D Diabetes
38  Which hormone is tested for confirmation of pregnancy?
A Prolactin B hCG
C Progesterone D Oestrogen
39  Peptide bond is a
A Covalent bond B  Ionic bond
C Metallic bond D Hydrogen bond




40  Which of the following allosterically activate glycogen phosphorylase?
A ATP B AMP
C Glucose 6 phosphate D Glucose 1 phosphate
41  Citric acid is produced by
A mucor B aspergillus
C rhizopus D erythrocytes
42 An enzyme produced commercially from saccharose
A lactase B amylase
C maltase D invertase
43  Blue revolution in India is related to
A Milk B Silk
C Fish D Egg
44  Yeast two-hybrid system is used for
A DNA-protein interactions B Protein-protein interactions
C C-Cinteractions D Protein-lipid interaction
45  If two restriction enzymes recognizing the same sequence, they are known
as
A Isomers B Epimers
C Enantiomer D Isoschizomers
46 A hybrid plasmid containing cos site of lambda phage is known as----
A pBR322 B pUC
C YAC D Cosmid
47  ldentify three correct termination codons
A AAU, UAG, UGA B UGA, UAA, UAG
C UAG,UAA, UGC D UAA, CUG, UCG
48  The transcription initiation factor associated with the RNA polymerase
holoenzyme in prokaryotes is
A P B ®
C o D a
49  Sanger method of DNA sequencing is also known as
A Dideoxy method B Deoxy method
C Mono deoxy method D HTS method
50  Which of the following is produced by fungi?
A Antibodies B Aflatoxins
C Interferons D Elaters
51  Which is the most sensitive method for detection of protein?
A Western blotting B Northern blotting
C Southern blotting D TLC
52 Which one is an example for chromosomal mutation
A Sickle cell anemia B Muscular dystrophy
C Phenylketonuria D Klinefelter’s syndrome
53  Which is the longest phase in Mitosis?
A Prophase B Anaphase
C Metaphase D Telophase
54  The first plant genome sequenced is of




A Neurospora

B Arabidopsis thaliana

C Rice D Wheat
55  When two hybrids are crossed, the percentage of recessive is
A 25% B 100%
C 50% D 75%
56  Which element constitutes thin base of DNA chip?
A Gold B Silver
C Silicon D Titanium
57  Vacuole membrane is known as
A Nuclear membrane B Middle lamella
C Leucoplast D Tonoplast
58 RFLPisa
A Morphological marker B Biochemical marker
C Genetic marker D Cytological marker
59  Identify the gaseous hormone.
A Auxin B Cytokinin
C Ethylene D Zeatin
60  “Gene for Gene” hypothesis was given by
A Flor B Davenport
C Vavilov D Donald
61 While heating, which vitamin in milk remains heat resistant?
A Vitamin K B Vitamin A
C Vitamin E D Vitamin D
62  In plants, stable transformation of gene is achieved through?
A Agrobacterium B Gun method
C Electroporation D PEG
63  The major protein components of chromatin referred as:
A histones B RNA primase proteins
C RNA polymerases proteins D Transcriptional factors proteins
64 = What is the temperature of liquid Nitrogen?
A -90°C B -196°C
C -20°C D 0°C
65  Which of the following represents the first plant to undergo transgenic
activity?
A Tomato B Cotton
C Brassica D Tobacco
66 = Bioluminescence is generated by
A Luciferin B Acetylene
C Biotin D Pectin
67 = Which of the following is a source of Bio-diesel?
A Brassica B Sun hemp
C Nostoc D Jatropha
68  Which of the following is a DNA fingerprinting technique?
A HPTLC B SDS-PAGE
C DOT BLOT D RFLP




69  Cow milk is rich in
A Starch B Casein
C Glycogen D Ferritin
70  The trp operon encodes structural genes involved in
tryptophan biosynthesis.
A three B five
C six D four
71  While preparing cDNA library one must isolate
A tRNA B gRNA
C rRNA D mRNA
72 The percentage of human genome which encodes proteins is approximately
A Less than 2.5% B 5%
C 25% D 99%
73 Mendel developed his basic principles of heredity by
A Microscopic study of B Mathematical analysis of the
chromosomes and genes offspring of Pea plant
C Breedmg experiments with D Anatomical studies of Pea plant
Drosophila
74  The expansion of ddPCR is:
A dual digital PCR B di-deoxy PCR
C droplet digital PCR D di-deoxy digital PCR
75  Cell lines that are derived from transformed (cancerous) cells are called:
A Primary cell lines B Plaques
C Continuous cell lines D Monolayers
76  Recombinant DNA can be introduced into a host cell by any of the
following methods except:
A polymerase chain reaction B microinjection
C transformation D protoplast fusion
77 A gene library:
involves plasmid but not phage B is created without the aid of
clones restriction enzymes
involves phage but not plasmid D is a collection of DNA
clones fragments from a genome
78  Which amino acid is coded only by a single triplet code?
A Alanine B Arginine
C Cytosine D Tryptophan
79  Alichen is formed by mutualism between an algae and
A Diatom B Fungus
C Phytoplankton D Cyanobacteria
80  ABC transporters falls into the category of?
Passive diffusion B Facilitated diffusion
Active transport D Group translocation
81

A+T=G+C

B A=GC=T

A/T=G/C

A
C
Based on Chargaff’'s Law which of the following is true?
A
C

D A+G=T+C




82  Eukaryotic chromosomes are metabolically most active in:
A Interphase B Prophase
C Metaphase D Telophase
83  Who provides oxygen in oxidation ponds, used for treatment of organic
waste?
A Protozoa B Fungi
C Algae D Hydrogen Peroxide
84  Among the following which is an aromatic amino acid
A Proline B Tryptophan
C Histidine D Lysine
85 = The main constituent of compressed natural gas (CNG) is
A methane B butane
C ethane D propane
86  The maximum iron content is present in
A lemon B tomato
C green vegetables D egg
87  Artificial kidney works on the mechanism of
A osmosis B plasmolysis
C dialysis D diffusion
88  Dengue is a disease caused through
A skin B intestine
C respiration D blood
89  Which of the following helps in preventing bleeding in wounds by clotting
of blood?
A vitamin C B vitamin D
C vitamin E D vitamin K
90 = Chemical used to arrest spindle fiber formation is
A Ethidium bromide B Colchicine
C NaOH D Tetracyclin
91 The largest gland of the body is
A liver B parotid gland
C pancreas D submandibular gland
92  Infrared Spectroscopy is useful in determining
A proton environment B three dimensional structure
C molecular weight D functional groups
93 | The best indicator for the detection of end point in the titration of weak acid
and strong base is
A methyl red B methyl orange
C bromothymol blue D phenolphthalein
94 = What is Rh in blood group
A rhesus B radial
C rhizome D rhodes
95  5-bromo uracil is base analogue of which nitrogen base
A Thymine B Cytosine
C Guanine D Adenine




96 = Which of the following is Anti-Rh antibody?
A IgD B IgA
C IgM D IegG
97  Which among the following is not a chemical database?
A PubChem B ChEMBL
C ZINC D PDB
98 = GeneBank and DDB]J are example of
A Primary database B Secondary database
C Composite database D Tertiary database
99  HLA stands for
A Human Leukocyte Antigen B Human Lymphocyte Antigens
C Human Leukocyte Antibody D Human Lymphocyte Antibody
100  Microarray data-analysis does not include the step
A Quality Check B Gene ontology
C Hierarchical clustering D Expression Analysis
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